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Question Number : 1 Question Id : 4699751662 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Among the following. an rrational number 1s
% Bod &S, 555’5053303:5

Options :

~ log 100
4699756601. #

4699756602, @ 1083

log1

[=

4699756603. ®

22

4699756604, ¥ 7

Question Number : 2 Question Id : 4699751663 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If p(x) = 6x% —7x% + 4x® — 12 is a polynomial, then the coefficient of x”in it is
p(x) = 6x% —7x° +4x3 — 12 38 2.8 25058, wand & x7 rHeXdn

Options :

4699756605. %

4699756606. %

4699756607. # 6
4699756608. ¥

Question Number : 3 Question Id : 4699751664 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

The value of tan 25°tan45°tan 65° is
tan 25° tan 45° tan 65° G0 Densd

Options :

[

4699756609. ¥

B2 | =

4699756610. %

il =

4699756611, #

v

4699756612, #

Question Number : 4 Question Id : 4699751665 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The distance from origin to the point (log, 16,logs 27) 1s
Sorefothsy Kol, Dot (log, 16,logs 27) % e &rdo

Options :

V5

4699756613, %

4699756614, #

4699756615. ¥

V27— 16

4699756616, %

Question Number : 5 Question Id : 4699751666 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Among the following, a decimal that 1s not terminating 1s
& (Bod 8S°, wodsn 0 Sarodsm

Options :
14

4699756617, % 20



21

4699756618, ¢ =

4699756619. #

7
4699756620, % 4

Question Number : 6 Question Id : 4699751667 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the given figure, if DE || BC, then the relation between a, b, ¢ and d 1s
2% B0, DE || BCoons a, b, ¢ 580 d o gy Somogin

Options :

ol B~

4699756621. %

a+d b+c

4699756622, %

= |2

4699756623, %

a+c b+d
4699756624, ¥

Question Number : 7 Question Id : 4699751668 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In Hyderabad, the probability of raming in the month of July 1s 0.35, then
the probability of not raming in the month of July is
@“ﬁmwﬁéﬁ D) Jo&t $80 DEEE Sograxs 0.35, eony, ©5 =) Jo&t

So HEETSRE Sogrid

Options :



1.35
4699756625. ¥

0.45
4699756626. ¥

0.65
4699756627. ¥

| 0.55
4699756628. #

Question Number : 8 Question Id : 4699751669 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In a geometric progression, if the first two terms are /3 and 3 respectively, then its
fourth term 1s
2. 190 (3§ 6, 3088 Bod Soren SHIM™ V3 HBA 3, wond TS Tred BEIO

Options :

33

4699756629, #

4699756630. ¥

93
4699756631, # v

4699756632, #

Question Number : 9 Question Id : 4699751670 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



In the given figure. if ‘O’ 1s the center of the circle with radius 3 cm, then the
length of the Tangent ( in cm) drawn from an external point P at a distance
of 4 cm from the center 1s

2)® Heod®, Frrgo 3 Do.&.mr o HF Too O vowd & P Tolgo

%008 4 D0.5. ErBos’ Ke iy o) P ool © Hzs AdE %)% B

5D (Ro..0s%)

Options :

=y

4699756633, ¢

5

4699756634, #

)

4699756635, #

&

4699756636. #

Question Number : 10 Question Id : 4699751671 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If V2 + Vx = 3, then the value of ‘x’ is
V2Z+V/x = 30oms ‘X Dend

Options :

4699756637, # 1

V7

4699756638. #

4699756639. # 7

4699756640, ¥



Question Number : 11 Question Id : 4699751672 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Among the following, one of the solutions of the equation 3x + 2y — 9 = 0 1s
& (208 =88 ,3x + 2y — 9 = 0 30%8c08 Ko FSdos® 58

Options :
4699756641, ¥ (5, —3)
=%
4699756642, % (3.-3)
—53
4699756643, & ( )
-3.5)

4699756644, #

Question Number : 12 Question Id : 4699751673 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A cone, a hemisphere and a cylinder have same base radius and same
height, then the ratio of their volumes is

28 Fopd, a8 ©f AEn HOED ¥ Jpdived ot e axrdin Hodm ot
P LOA drnon wond T 8 Horndve AQS

Options :

1:+3:2
4699756645, % V3

1= 2 =3
4699756646. % V3

i : 3
4699756647, ¥

3=z 2% A

4699756648. %

Question Number : 13 Question Id : 4699751674 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Among the following, a quadratic equation having 2 as a root 1s
& (Bod 8¢, 2 B ¥ Sresor Ko $Y SiLsnso

Options :

x> —4x45=0
4699756649, %



2x2 —7x+6=0
4699756650. ¥

x24+8x—12=0
4699756651, #

3x2—6x—2=0
4699756652. #

Question Number : 14 Question Id : 4699751675 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The median of the scores 12,24, 13,18, 25,19, 20 1s
12,24,13,18,25,19,20 oede sFnssm

Options :

4699756653, %

4699756654, %

4699756655, ¢ 19

4699756656. #

Question Number : 15 Question Id : 4699751676 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
If 5, 10, x, 30 are in proportion, then the value of ‘x” 1s
5 10, x, 30 e ofarss50s® oo vond X7 Dend

Options :

15
4699756657. ¢

. ok
4699756658. ¥ =

4699756659. % 25

o
4699756660. * 12

Question Number : 16 Question Id : 4699751677 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



If marked price of an item 1s X 200 and discount on it is 10%. then the
discount amount(in ) 1s
28 5D (BB o I 200 Hbain =l SN0 10%, wond & 5D D
$%) 8hosd Imdo R o)

Options :

4699756661, #

4699756662, #

80
4699756663 %

4699756664, ¢ 20

Question Number : 17 Question Id : 4699751678 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A cylindrical tower 1s Sm mn diameter and 14m high. The cost of white
washing 1ts curved surface area at the rate of 50 paise perm- 1s
2¥ dparoed M98o oo 5 &. b & 14 L. o S So oL

Do b8 5.8, B 50 e Hodhd oy Iwdo Py

Options :

;
390
4699756665. %

4699756666, # 97

%110
4699756667. ¥

%95
4699756668, ¥

Question Number : 18 Question Id : 4699751679 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

5 :
If cosecd = = then the value of sec@ 1s
cosecf = % wond secld Dendd

Options :



|

4699756669. ¥

o

4699756670, #

wil Lt

4699756671. %

| W

4699756672, #

Question Number : 19 Question Id : 4699751680 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the given figure, If~ZPAO = 30° and 2PBO = 40°, then the
measure of ZAOB is
28 H0oS° , ZPAO = 30°%8cw £PBO = 40° eod £A0B Sos

I,)

Options :

o
4699756673, # 70

o
4699756674, %

110°

4699756675, #

o
4699756676, ¥

Question Number : 20 Question Id : 4699751681 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Number of solutions of the pair of linear equations 2x + y =5and 3x — 2y =4
1s/are
BhaH SdosSere a8 2x +y =05 08w 3x — 2y =4 % o FEL (v) Rogy

Options :

4699756677. # 0

4699756678, ¥ 1

)
4699756679, #

many

e tve)
4699756680, ¥ ( )

Question Number : 21 Question Id : 4699751682 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

§N

. . . 12N
Net force on the body shown in FBD 1s —7 ¢
By _
— A Beost Sehd 'ﬁra:_g 5% Dot HDEnwo Dend
108 o &
Options :
12N
{7

4699756681. %

8N

4699756682, #

10N
4699756683, %

6N
4699756684, ¢

Question Number : 22 Question Id : 4699751683 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following 1s a blended fabric ?
(Bod 86" D|BS SiKo 2B?

Options :



Rayon

[eleve,ts
4699756685, #

Acrylic

- e|XDE
4699756636, % EE

Terricot

E38=¢d
4699756687. ¥

Silk

ESTwY)
4699756688, % &

Question Number : 23 Question Id : 4699751684 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The instrument used to estimate the intensity of the earthquake 1s
K05 BHEH wotize IoHTRE adHIrRos HBES0

Options :

Seismoscope

£o% B8R
4699756689, #

Seismograph

M =R
200 S
4699756690. ¥ 9

Electroscope

D&Er& XD
4699756691, % = 2

Lightning conductor

&8 eor¥o
4699756692, % o

Question Number : 24 Question Id : 4699751685 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The polestar appears as not moving because
Eﬁe:,aﬁeégtéo ESeoon agin Edoticel ==8mo

Options :



It 1s situated in the direction of the Earth’s longitudes

o Bgrozre BIE° HIKEBo wokto S
4699756693, % o &

It 1s situated i the direction of the Earth’s latitudes

3l ogroTe BIE §BKEEo vodto Sy
4699756694, #

It 1s situated in the direction of the Earth’s centre

4699756695. % 5 Solo B’ B)RIVEBo Bwokto g

It 1s situated m the direction of the Earth’s axis
§ordo (geoemEo B8 @Q)PVE|Bo wokto g
4699756696, ¥

Question Number : 25 Question Id : 4699751686 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A ray of light incidents on a plane mirror at an angle of 30° to its surface,
what will be the angle of reflection?
Shde 8808 30" E08° 2.8 08 88mo HEFPE HTHEN S'wo Dend od?

Options :

4699756697. #

4699756698, %

(]
60
4699756699. ¥

g 0
4699756700. ¥ - 0

Question Number : 26 Question Id : 4699751687 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Heterogeneous mixture among the following is
208 7&S° Durdiad o|Fsoo

Options :

O1l 1n water

4699756701. ¢ - &3 EhipiEno



Awr

=D
4699756702, %

Sugar in water

DS -Boserd Loldso
4699756703, %

Salt 1n water

4699756704, % Dto-adyp DoEo

Question Number : 27 Question Id : 4699751688 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is not a double displacement reaction ?
Bobd TOE" SN B0 HTrH S8 =B DB?

Options :

Pb(NO,), +2KI —> PbI, +2KNO,
4699756705, % ) )

CaO+H,0 — Ca(OH), +Q
4699756706. ¥ - -

NaOH + HCl — NaCl+ H,O
4699756707. # :

NaCl + AgNO;, — AgCl + NaNO,
4699756708, %

Question Number : 28 Question Id : 4699751689 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Lemon juice
Q&80

Options :

Changes blue litmus paper to red colour

DD DS RS0 Borbky AP SrBRRod
4699756709, ¢

Changes red litmus paper to blue colour

Bnteo) 8&3@5 Ao Bohd deorr vvileSrsiota)
4699756710. ¥

Does not change the colour of blue litmus paper

DO DD =ehdo Sorhdy Soesdo
4699756711, % © *-J



Does not change the colour of any litmus paper

D D% s=hdo Borbim S\ Bed
4699756712, %

Question Number : 29 Question Id : 4699751690 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The Zone of flame where vapourized wax gets completely oxidized 1s
B8 0008 D [@o808® FiErnos® He Do ©jmSS® 0% Grer
Lo Bothehod?

Options :

Dark Zone

H2&mre sod |Fodo
4699756713, #

Blue Zone

ROBoD (Frodo
4699756714, ¥

Yellow Zone

D0y Boid (Eroso
4699756715, %

Middle Zone

S0 (Eroso
4699756716, ® Cﬁﬂ’ @

Question Number : 30 Question Id : 4699751691 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The separation method used to separate powdered salt from powdered
camphor 1s
&P B8 - X880 &8 o|Fo H08 Bdpd IHVHE08 TG D88

Options :

Hand picking

388 DoFaho
4699756717. %

Distillation

&S0
4699756718, % ™

Sublimation

ﬁeﬁujéﬁo
4699756719. ¥



Winnowing

ef-a?c“u)é ol lnle)
4699756720, % =

Question Number : 31 Question Id : 4699751692 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Fat storing tissue among the following 1s
808 &S 5y o) Deod TR Ewereo

Options :

Epithelial tissue

an¥ee ¥pareoo
4699756721, %

Adipose tissue

&S Zevereo
4699756722, ¢

Muscular tissue

¥olid ¥omareo
4699756723, %

Nervous tissue

T8 Zeereo
4699756724, %

Question Number : 32 Question Id : 4699751693 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the INCORRECT pair of hormones and their function
FELS B & DFHe KBsR wEH HoKod

Options :

Vasopressin - Regulate absorption of water from the kidney tubules
TS — SrEbotios® E HX:FHhed Eobisgod
4699756725, %

Thyroxine - General growth rate and metabolic activity

. BoES - ot SIS B $Hdcin ES(Eche
4699756726,

Adrenalin — Increase glucose percentage in blood

8805 - 8506°0 PSS 280 Dot
4699756727. ¥



Somatotropin - Growth of bones

S EPLS - Adnte DHIHSe
4699756728, %

Question Number : 33 Question Id : 4699751694 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the triploblastic and radially symmetrical organism from the following
8388, Soch FHo D DD HYoSod

Options :

Starfish

B4
[ DElso
4699756729, ¥ & D

Jelly fish

3058
4699756730, # "'"‘gj

Scorpion

4699756731, # s

Ascaris

T vaplats)
4699756732, # ¢

Question Number : 34 Question Id : 4699751695 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

These cells are called Microscopic policemen
& Ero mé@’ BEE énen ©otrd

Options :
Basophils
DPDS
4699756733, % %)
Neutrophils
Boo(¢5°0 S
4699756734. ¢ ST
Eosmophils
BRSDES
4699756735, # >
Monocytes
TS

4699756736, #



Question Number : 35 Question Id : 4699751696 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The part of mid bramn 1s .....
E’)Jcﬁa DB @wﬁa g0 .....

Options :
Diencephalon
- mESivgo
4699756737. % =i
Cerebellum
@ﬁ:;&:’g?’c&o

4699756738, %

Pons Varoli

&5 369
4699756739. ®

Optic lobes
cSE}EﬁEg‘m
4699756740, ¥

Question Number : 36 Question Id : 4699751697 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The number of autosomes in a human sperm cell 1s
SRS HIE 20069 etfdEHhe Rogy

Options :
4699756741, #

2

o

4699756742, &

21
4699756743, %

4699756744, %

Question Number : 37 Question Id : 4699751698 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following 1s a fossil fuel?
Bod T86° Sera moSo HB?

Options :



Wood

2%
4699756745, % "

Plastic
FHE
4699756746, % 7%

Petroleum

B Coi Aeve)
4699756747, ¥

Biogas

a:uﬁavrﬁéﬁ
4699756748, %

Question Number : 38 Question Id : 4699751699 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Blood Cells in humans are formed from
Sr8Hes® 85 Swren DO Hod DS EEron

Options :
Pancreas

=50
4699756749, ¥

Bone marrow

©0R
4699756750, ¢ @ &

Spleen

&0
4699756751. % 7

Kidney

Sore(ghotio
4699756752, %

Question Number : 39 Question Id : 4699751700 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I[dentify the INCORRECT sentence from the following
208 THE® $B=0 sy gslelelnleli

Options :



All types of plastics can be recycled together urespective of its own kind
o) oo %;?35@?63 = Seod 5%0&° Jonoso TEome X0 H :ﬁS@dﬂJo

San5S
4699756753, ¥

Deforestation destroys wildlife habitats and increases soil erosion
oo $BRIJchio Sed S worTrey TEdhYmrow, e Fobo

RENHPHE0H
4699756754, % o

Fertile so1l 1s lost to erosion because of poor farming practices

ﬁsé@mﬁ@é aﬁ;é‘%“cﬁa DBehe Jod rrto ENsFdHod
4699756755, % & = L

Mining methods Pollute water and air

oM DBen (Sroren) DB B MO BenhFo Drow
4699756756, ¥ i =

Question Number : 40 Question Id : 4699751701 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The given organism in the picture belongs to which microbial group
DFod® ambs £0 & g ydde SErEDE DodKd?

Options :
Algae
Fderen
4699756757 %
Fungi
Bo(meen
4699756758. ¢
Protozoa
&P ren

4699756759, #



Bacteria

egelelovh
4699756760. % &

Question Number : 41 Question Id : 4699751702 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is not an example of third order landforms?
SorES (BB geddrared sorndedn o8 87

Options :

Carved mountains

D088 BPoden
4699756761, % =L

Sand dunes

200 s Kné;@w
4699756762, %

Delta

Qe
4699756763, & =

Plateaus

5
BT 00en
4699756764, ¥

Question Number : 42 Question Id : 4699751703 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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The forests that grow between 50°to 70° latitudes in the Northern Hemisphere are
ﬁgmg gos® 50° %o 70° oo K] 2080 o&Hen

Options :

Coniferous Forests

— K
4699756765. ¢ '{QDFF_. S otoe

Mediterranean Vegetation

orETe o0
4699756766, % e et

Temperate Deciduous Forests

$588% edog) erHen
4699756767. %



Tundra Vegetation
&ol= HE oo
4699756768, %
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The person who argued that i order to get complete equality Private
Property and common enjoyment of the land and its fruits should be
abolished was

DengS JErSE0 ©F) drrosed) FHomrecd HEHE 0D B T 3 o

Heren ﬁsa’aoé&, ™ ofdored 760l %
Options :

Samt Simon

Dowodd DS
4699756769, % &

Thomas Moore

Prem S0°0
4699756770, ¥

Babeut

DD
4699756771, ¥ ¥

Fredrnic Engels

3585 dondy
4699756772, %
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The Motupalli Abhaya Inscription of Ganapati Deva mainly tells about
HEedd® BHE JonoDD FTreewHY echarddo (Hredorr 6 HBoD BenHEod

Options :

Foreign Trade

2G4 Rero
4699756773, ¥ =

Construction of Temple

Sredire R)Ugeao
4699756774, #

King’s imnvasions

4699756775, # e L;é@;



Land Grants

4699756776. % 5 e
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The article of Human Rights that States no one shall be subjected to arbitrary arrest,
detention or exile 1s
©STPROT D589 CLeH BODEPEE, DE)0BODEFELED DIPRBOSERED ©

) SRS e ©f%Emo

Options :
Article 9
=858 9
4699756777. & &
Article 10
sb8%a 10
4699756778, % ®
Article 3
sbXd 3
4699756779, % %
Article 5
@géﬁ 5

4699756780. #
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Constituent Assembly set the nation’s agenda for
BV Tearmgoll JY =8 @wE) IRow® ™ AE)BAod

Options :

Economic Efficiency

@gﬁ &@go
4699756781, %

Democratic decentralization

BE vy Elellaislels
4699756782, % =

Social Justice

FSeRE Terado
4699756783, ¢ o



Sustainable development
“l o @

Q2008 @G

4699756784, % - B
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Match the following
Lod =0 msHBodol

A. Circar Coast 1 Himachal range
So%5 880 IrSrSS (3B

B. Canara Coast 11 Shivalik range
o &0 80E (3B

C. Pir Panjal 11 East Coast
28 Homd Sy 8o

D. Purvanchal Hills v West Coast
085S HEEren S8 850

Options :

A-1; B-n; C-m; Dav
4699756785, ¥

A-iv; B-iit; C-ii; DA
4699756786, %

A-ni; Bav; C-1; D-n
4699756787, ¢

oy o Adiils Beil  C-ii Deiv
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This 1s not the characteristic features of organic farming
olbah SHArah ofo =08

Options :

Crop Rotation

Sodren eﬁ:voﬁojc%
4699756789. %



Use of chemuical fertilizers

EFradd dPed [@Psmirode
4699756790. ¥

Use of compost fertilizers

4699756791, % DoLEH MDPo FEo

User of local resources

% Do DT rAoSSo
4699756792, % @
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This 1s not true related to “Age of Extremes”
‘BB DoSoTrodintio’ $% Honodod) K808

Options :

Declme of Fascist power

Frduo @nd) ob==8o &$ATESE0
4699756793 ¢ = -

The need for democracy was growing
Bt D) eNdde G0
4699756794. %

Literacy levels became high

@gc‘ﬁ;é Feeso VNG
4699756795, %

New art forms like movies became popular
2O Hod B°8 Lerdrdren (Brihdios®s oo

4699756796, #
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The residential area which consists of population between Ten Lakhs to one
crore 1s known as
96 ofe Dol ¥ B8 58D vy Ho dad (FromQ) oo Levardd

Options :
Mega city

FFRBo
4699756797. ¥



Metropolitan city

DT F0ET Sisdo
4699756798. ¥

Class-1 city
e - 1
4699756799, %

Town

Ev

EIE20
4699756800. #
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The Peoples Republic of China was established on the principles of
P ([Bue fedo@o S drrozreR dY)Gob

Options :
Socialism
FeoraTdo
4699756801, # =
Fascism
i}
25230
4699756802, % &
Militarism
20X o

4699756803. #

New Democracy

Koe&d (Derargsiyo
4699756804, ¢
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Congo in Africa was a colony of
o[RS’ ol & 308 S ([Frodo
Options :
Britain

Derd
4699756805, % €

Germany

28)0

4699756806, #



France
&=
4699756807, %

Belgium

JOcho
4699756808, ¢ =
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In USA. Black Americans fought against
o & o wBosoen 58 D&GZorr SPomd

Options :

Segregation of Blacks and Whites in Schools and buses
8T, m“@g@é‘s 52:@@@3}3& SoBaim %;é s8oine Dfmd
4699756809. ¢

Right to vote to Blacks

Sexrdcdoen Lén Hod) addo
4699756810, ¥ = ¢

Treating Blacks and Whites in the same manner

Semrdcien, HHBam 38 weidinet JSrtorr SrEto
4699756811, # e C

Providing employment opportunities and housing schemes to the Blacks

&Ssérm:o, r‘b&*;’:;’é&é’a égw@dﬁweﬁ: edsere EDjouko
4699756812, %
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Light red colour on the map represents this in land use
Dered® B8 B Sorbd e DAErNoE® B Hrdnod

Options :

Swamps
DEE ghrsmen
4699756813, #

Waste- lands

Dozl Zhrcdwen
4699756814, ¥



Cropped area

Hoten FHIHY) [@roso
4699756815, ¥

Land useful for agriculture
Srd5rcir0E oogdd dhrsnen
4699756816, %
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Arrange the following in chronological order
£ob 780 crolfdrhrdorr @Eod

1. Kheda protest
Toe DEIHen

2. Lucknow pact
e}EEcl cR)felnle]
3. Rowlatt act
SIGLIENIE
4. Abolition of partition of Bengal
Jorre Dif=d dr‘ﬁg

Options :

1, 2, 3, 4
4699756817 #

1, 3,2, 4
4699756818. ¥

1.8 2
4699756819. ®

4, 2,1, 3
4699756820. ¥
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The Goods and Service Tax (GST) was launched in India in the year
TBETF0E $ Do H¥y (2.28.8.) D SoHH)BoE® (HIE Berd> ?
Options :

4699756821. # 2015



2016
4699756822, %

2017
4699756823, ¢

4699756824, # 2018
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Based on World — Time Zones, when it is 10 a.m at 20°E
Longitude, what 1s the time at 10° W. longitudes?
[BB0S (@ErdE o Hodere egedorr 20° =8 Sgrodo G weabo

10 Hoten wandHtd 10° 5By Bgrodo DG BFoabo Jod?
Options :

8:00 a.m

adaiho 8 Hoben
4699756825, ¥

12:00 noon

sugersT™o 12 HNoéen
4699756826. % Rk

9:00 a.m

adaho 9 Hoden
4699756827, %

11:00 am

adcho 11 Koten
4699756828, %
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The state that has the highest concentration of sugar mulls 1n India is
PBETF0E" Jord Loyrores XS TolBX)STos oogo

Options :
Madhya Pradesh
4699756829. ¥ oiigeas
Himachal Pradesh

SrSrsS (BB
4699756830. %



Rajastan

TR
4699756831, % =

Uttar Pradesh

&85 (555
4699756832, ¥ =
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The Mahajanapada of ancient India with the capital of Kotilingala was
@ Dorre’ Tarrd Ko (D5 EEEEoEN o8 HiFashdo

Options :
Magadha
oS
4699756833, % &
Asmaka
©%
4699756834, ¢
Kosala
ke

4699756835, # ~

Vatsa

D&
4699756836. ¥ y
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The Proportion of members of Legislative Council of Telangana to be
Elected by the Teachers 1s
Boorrer 08 HokdE DD HoH ﬁ&w&cﬁww VI evlelhylel)

Options :

1/34

1/35 Soék
4699756837, #

1/6"

1/65 So&b

4699756838, %



1/12%

1/12 & Sob
4699756839. ¢

1/4%
 1/45 S0

4699756840. #
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Which of the following 1s least essential for a teacher?
(Bod =8S° 2.8 adrrainds 08 S50 0II8HAB 26?7

Options :
Knowledge of dance and music

SatsieRielolovey Johzed8 Sonobodd :g;%éo
4699756841, ¥

Content knowledge
i ""J-rn
4699756342, % DTD SV

Communication skills

ISVt te! Eé}ﬁgm
4699756843. %

Respect for human rights

RS e DY TS0
4699756844, ¥
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If teacher’s objective 1s to develop problem solving skills, the activities
should be designed to facilitate :
28 BarEyoed oo Sk Hoams Bhrged o) Sahso Lona, Xk

= Q&orr Srerobod
Options :

Recall and Recognition

HEEESS0 Db HBosto
4699756845, #

Drill and Practice

2% 09 H8 98 S6DoSto HBAm ;S Tahdo
4699756846, #

Reasoning and Decision making

==6%0 85w Bho st 5%0
4699756847, ¥ i @

Memory and Understanding

2% DB OIMrTEY
4699756848, ¥ =—
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Which of the following 1s not a competency of a teacher as a professional ?
o8 ES° adrpraingdl HBBEDE Fgo A DA?

Options :

Curricular and content competencies
Qory; (Hes~8% Hodcin Daidire Frigro
4699756849, %

Transactional competencies

S FH80
4699756850, * =

Competencies related to community

J57eQ8 KomododD &é}%ﬂp
4699756851, ¥

Competencies related to politics, caste and religious affiliations

oredah, Do B D ©dodE Forzen
4699756852, ¥
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Whatever be the mistake commutted by a student, the teacher shall ...
Do dewdod Sy DX, dargrioind

Options :

Not physically harm the leamner
D88 THE R EDAoSE
4699756853, ¢ &

Not report the matter to the principal
SorSaramaind HhE O S SHER%
4699756854, %

Not inform any problem to the parents of students
Dodie SDEohe HHE O IR SWEFN
4699756855, %

Not escalate the 1ssue to higher authorities
P 0550 §HhE S SHTED
4699756856.
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‘Students’ watch a video about photosynthesis sent by their teacher at home
and conduct an experiment and discuss results i school’ 1s an example of ......
‘&mg%w, EHo BEPpraintd Hodd Edmady DETr nod I Ird SBNS o

BIrrio DY, FdTed -l POzroh SBoSEe’ SR duerde
Options :

Traditional Classroom

(%vo@’:mcﬁa S818 16
4699756857, %

Flipped classroom
85 S518 58
4699756858. ¥

Discussion classroom

55 S558 K8
4699756859, #

Mixed Classroom

DRSS SB18 116
4699756860. %
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Who among the following would be rated as a better teacher?
Bod TBE° | A58 Hod ﬁ&m&dﬁwda @ ©otrX”?

Options :

One who uses black board, charts and maps

Spoe, THhen HBdn Hred addrhon T80
4699756861, ¥ -

One who lectures and uses the blackboard only sparingly

4699756862, ¥ (©P0n&r Qodorr $yny B3@EFNoD 80

One who only lectures by sitting on the chair

£8) 2 P80 (Hdohon  =8Y
4699756863, %

One who facilitates learning

k% Srto Tnadd
4699756864. ¥ L
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Which of the following 1s an example of software material?
2od =&&° %%35 &P & aoedrtn 28 ?

Options :

Computer / Laptop

IRV B S
4699756865, ¥ Sodrl /oherd

Overhead projector / Projection Screen

=] =45 / X5 [Roe
4699756866, % 26 PRE6 /EEES L%:Ua

Audio / Videotapes with recordings

©8Br /B8BoRS° &%) DETrED)
4699756867. ¢ = =

LCD Projector / TV

ERE (P50 / B9
4699756868. % o
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Which of the following are incorrectly matched?
Bod 0&P KHB=R wdo rHBoSod

Options :

Article 21 A : Ruight to Education

ohE%m 21 2 Do a’rt‘b\%
4699756869. %

Article 28 (1) (2) (3) :  Right to Religious Education

o858 28 (1) (2) (3) 0BHIBDE Do FE
4699756870. # o = &

Article 15 (1) (3) : Promotion of Hindi

©HESm 15 (1) (3) 3robR ([@FE)Srosto
4699756871. ¢

4699756872, %
Article 46 : Promotion of Education and Economic Interests of
SC. ST and other weaker sections
©p55em 46 R Horen, WY Bien HdUD 288 nelEs

Se D obahn ©b¥ [BFeyo
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What do the letters ‘ICT’ denote?
2.20.8. (ICT) 58 &S0

Options :

Information Creation of Technology
2SPBHAT (BGHAS e B
4699756873, %

Information and Communication Technology

BIHPERS B XS5werdERS Bomes
4699756874, ¢ = Ei

Innovation, Creation and Technology

- g = = =
1699756875, % aFIES, BAHS ©of Bomen

Information, Citizenship and traming
aenbane 2&aShS el BN
4699756876 %
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What 1s the name of the Yashpal Commuttee Report?
GHTFS Ed JTBE D dHE?

Options :

Learning 1s joyful

Do RS widso
4699756877, ¥ = =

Learning without burden

B0 TR effdto
4699756878, ¢

Learning without pain

T) B et
4699756879, #

Learning 1s fun

ordso 5 %o
4699756880. ¥ O
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Among the following. which 1s the best state of mind conducive for learning?
Bod o&&° wgfRoHnd, HEY oY) wEH row H&?

Options :

Low motivation. Low fear

S50 [_?oém, EX oo
4699756881, % = "

High motivation. High fear

DEND (D8ea, XD Poho
4699756882, # ¢ G

High motivation, Low fear

DEND (D8ee, SES Pobo
4699756883, ¥ 2 28

Low motivation, High fear .
SE035 (86, A Fado
4699756884, %
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Which of the following 1s not a quality to be demonstrated by a teacher?
208 &S adrgraintd D of) (©&8)050°eH?



Options :
Teacher must be fair and unbiased in marking and grading
Barg oot Sr8)of Hdakn [Iloh Tnbdpth arehorr HBdn D ESSorr

Som=d
4699756885, #

Teacher should maintain an autocratic atmosphere in the class
BEEONG DB0HE TreedterR) S518 Kest Vegkvdetaud))
4699756886. ¥

Teacher uses different teaching methods and gadgets

aarpednt DD S HBHoH HBSH HEETOR BBITrhoTD
4699756887, # = .

Teacher should keep himself updated with content
BEreTon AHBESPH whiHHK) Srde P Sdraro BwE Td
4699756888. *
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As a teacher, on the basis of which of the following you will grade your students
in their practicum?
2.8 eargeaindre, Hd Do 59 egedorr ErEED 06 IFH?

Options :

Grade them based on whether they are enrolled in private tuition or not
R0 RS & Iharoe Soe o o B [B6 aSdo
4699756889. * = “ 2V d 2 =
4699756890, %
Grade the students on the basis of their behavior with support staff, other students
and yourself
FEve & &8 :‘:’Jm“écigaés, = tel ?032@0&55 508w & & (H5800S VTR

oo TER (8 ado

Grade the students only on the basis of their performance in practical classes

without any bias

g5 s5i18 Kas® =% (550D ooz 28 JfEa-dorr O ad o
4699756891, ¢

Grade them based on their participation and behavior in lecture classes

BTN SBIS KBS® B TPE5 HoBai» T8 (H58% egrSore BE z5:%0
4699756892, % =
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Which of the following 1s the apex mstitution involved in the planned and
coordinated development of the teacher education system in the cmm’rv”
S¥os® ﬁs&t;z"oﬁa Doy éf‘éeo G0, (De=@% Bk HabecD @ﬂ‘%& = d‘@aﬁ
odrH)E 3 rOOr&,) B?
Options :
University Grants Commussion (UGC)

s00756503, ¢ RSB (o) BT (UGC)

National Council of Educational Research and Training (NCERT)

SA8E TS @f ITIRS 838 ol (E0oh (NCERT)
4699756894, %

National Council for Teacher Education (NCTE)

3088 =S $6 £585 2SS (NCTE)
4699756895. ¥ =

National University of Educational Planning and Administration (NUEPA)

SRS ARS8 e JEATINS ol ©ok @&é&)@&iﬁ ( NUEPA)
4699756896, % - =
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The most important concern of the teacher while distributing the report card to
parents should be....
EDZBohe dogd fexats] = H0bB TRH[PH dargrand rSomd)d o
aﬁ::q:ér;_oié ©oT0
Options :

Discuss the unsettled bills of the child

3005V Dep D 2 SBodto
4699756897, %

4699756898, #

Inform the parents of the complaints received from teachers and peers about the child
& Dopdie 5dan adrgydne @) Hovieosh SD8ohed BDahTAhEo

Get parents to respond about future projects the school 1)1 oposes to take up

SO @o¥), FRYH E5rte P $DSohe (B80S m"aoiﬁc‘ﬁo
4699756899, %



4699756900, ¥
Report to parents about progress and deficiencies of the child and discuss about

remedial measures
Ded Ty HEE HBak S're 080D 80D TER wiKLoDLE ENG

drsdep SDBohes® $Bouto
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Which one of the following 1s most appropriate with respect to teacher — student
relationship?
lpnpert) D8 oo SoporelE JSBGHEE 28?

Options :

Very Informal and intimate

Trer ©XHTEE HBn SQEFSHHE
4699756901. ¥

Linuted to classroom only

SBHE 18 DSBS HBPSRG
4699756902, #

Carefree and Indifferent

QBZEro b3 Hdorr aodo
4699756903, ¥ ° o

Cordial and Respectful
SR S8 TES (HEDS
4699756904. ¥

Question Number : 77 Question Id : 4699751738 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Which of the following statements 1s about diagnostic test?
&5 Doedes VER HBod 808 DB?
Options :
It helps in elimination 1n the process of selection of pupils
28 Hogdie JodE BED FenoPd® SFEabHLHos
4699756905, %

It helps teacher in selecting relevant test material

Nonohes a’:éé TR JoHE % &&tpﬂaciﬁwéﬁ DFEAHN oS
4699756906. ¥



It helps to identify lacunas in the teaching learning process

558 wrrrdd Drdos® Sareid HBothtD JFAHHHH0s
4699756907, # =

It helps to find out students errors, to determine remedial measures

Do Sarod B, 78 750 8o 3&%&30
4699756908, ¥ ®

Question Number : 78 Question Id : 4699751739 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks : 1 Wrong Marks : 0

Which of the following is a threat according to SWOT analysis of teaching
learning process?
IB.dapp. 2. (SWOT) £%658 o558 (HBah F8eD af) Swdps hhosod?

Options :
An aggressive teacher
My 5 2 — _1-‘.‘ o
4699756909, ¥ oS cen Hdy Bargdin
A friendly and encouraging peer group
?o;?’.??’.gjaé;ﬁ 080 (EPE)rEE R ‘Kaa’mﬁéme}oéo
4699756910. *

Completion of assignments on time
SRS 2 Lyren Fr8 Baho
4699756911 %

A peaceful atmosphere 1n the classroom

518 110E° (HosDd eSS0
4699756912 %
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Article 45 under the directive principle of the State Policy of the Indian
Constitution provides for ....
Fovalet] ?ﬁ?oﬁoﬁr’ ©oB% “w@‘@éa 45 ©b%8n

Options :

Rights of Minorities to Establish Educational Institutions

o Rogr;Hen Hoy Soged doz)én SR L E)00b
4699756913, % ®

Free and Compulsory Primary Education

50 8cin B0 (ErPHNE D& wobdod
4699756914, ¥ & e =



Giving Financial Assistance to Economically Weaker Sections

e=d%orr % 288 Soe «=b% DA wodnod
4699756915, ® @ = @

Fundamental duty to provide the opportunity for Education

ey TroHLH ohcarl) (S D& ED300d
4699756916. % = o
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Considering teaching as a process we can say that:
S5 of) R o8 (HBSH m HBHBR

Statement 1: Teaching is goal oriented with change of learner behavior as the
ultimate end

FEo 11 568 oxsd off orrdd (HEaH 6 Qo (HS88 &° Srdy) ekosd
DHBT FHod

Statement 2: Teaching 1s an rrational and reflective process
go 2: 5555 o oTrhE Bk @38?6030505 (BB

Options :

Both the statements are true

Botd TPen SZRD
4699756917. ¥

Both the statements are false

Both Teoeren #0=R9
4699756918, =

Statement 1 1s true and Statement 2 1s false

SnSE T¥io $PHE Hdan Doy TEo $8=06
4699756919. ¢

Statement 1 1s false and Statement 2 1s true

088 %o HB=e0H HBAsw Told TEro HJBRS
4699756920. # = Fa= s
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Question Id : 4699751742 Question Type : COMPREHENSION Sub Question Shuffling Allowed : No Group Comprehension
Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Question Numbers : (81 to 85)

Read the passage carefully and answer questions 81- 85

The human skeletal system 1s a structure made of bones. It’s very strong. The
quality of the skeletal system helps determine the age of children.

Some experts also believe that the more good quality nutrition goes into the body
of the children, the stronger the skeletal system becomes. The age of children 1s also
determuned by counting their teeth. This process 1s mostly used at the places where
sporting events are held.

By counting their teeth, experts easily find out theiwr age and get the children to
compete with children of the same age.

It means that to determune the age of children, you can examine their skeletal
system, count their teeth or count the years. months and days chronologically. The most
common way to determine the age of children 1s to count the years, months and days
chronologically.

Sub questions

Question Number : 81 Question Id : 4699751743 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The human skeletal system 1s

Options :

Flexible
4699756921,

Strong
4699756922, ¢ =

Very firm
4699756923, ¥



Normal
4699756924, ¥

Question Number : 82 Question Id : 4699751744 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What do the experts believe?
Options :

They believe that the skeletal system 1s strengthened by functioning
4699756925, %

They believe that sports strengthen the skeletal system
4699756926, %

4699756927, %
They believe that if the mental and physical strength 1s fine, the skeletal system
will be stronger

4699756928. ¥
They believe that the more good quality nutrition goes mto the body of the
children the stronger the skeletal system becomes

Question Number : 83 Question Id : 4699751745 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
How many ways are there to determune the age of childrens?
Options :

4699756920, % OME

4699756930, % LWO

4699756931, ¢ Three

4699756932, # Ten

Question Number : 84 Question Id : 4699751746 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
How do experts find out the age of children during sporting events?
Options :

By counting their teeth
4699756933, ¢



4699756934, % By checking their mental strength

By examuning their skeletal system
4699756935 %

By checking their physical strength
4699756936. ¥

Question Number : 85 Question Id : 4699751747 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What 1s the most commmon way to determine the age of children?
Options :

By counting their teeth
4699756937, %

By counting the vears, months and days chronologically
4699756938, ¥

By examining their skeletal system
4699756939, %

By checking their physical strength
4699756940, %
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Sub-Section Id : 46997570
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Question Number : 86 Question Id : 4699751748 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the proper prefix for the word Editor
Options :

4699756941, # Bye

4699756942, ¥ Sub

Joint
4699756943, ¢

4699756944, &

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks for this question if any of the
correct options are chosen.
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In each of the following, find the correctly spelt word
Options :
_ Surveilance
4699756945, %

Surveillance
4699756946, ¥

1699756047 % Survellance

1699756045, % Survaillance

Question Number : 88 Question Id : 4699751750 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks : 1 Wrong Marks : 0
Fill in the blanks with suitable articles
Your look very tired. You need holiday.

Options :

4699756949, ¢

. dll
4699756950. %

~ the
4699756951, %

4699756952, % to

Question Number : 89 Question Id : 4699751751 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Sushma 1s student. When she finishes her studies.
she want to be Journalist
Options :
a. an

4699756953, %

4699756954, & A

_an, the
4699756955, ¥



the. the
4699756956 ¥

Question Number : 90 Question Id : 4699751752 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Fill in the blanks with correct preposition
The cat 1s sitting the wall
Options :
4699756957. % at

with
4699756958, ¥

on
4699756959. &

4699756960, % 1O

Question Number : 91 Question Id : 4699751753 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Choose the correct synonym for the word underlined
Verbose
Options :
Talkative
4699756961, ¥

Natural
4699756962, %

ss99756963, % LLIOTHIESS

Random
4699756964, ¥

Question Number : 92 Question Id : 4699751754 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Choose the correct antonym for the word underlined
What 1s an antonym for altruistic?
Options :

Benevolent
4699756965, ¥



4699756966. ¥ Selfish

Liberal
4699756967, %

Magnanimous
4699756968. #

Question Number : 93 Question Id : 4699751755 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Fill in the blanks with phrasal Verbs
Let’s that old box. We don’t need it.
Options :
4699756969. % inkewD

4699756970. # throw in

throw away
4699756971, ¢

throw mto
4699756972,

Question Number : 94 Question Id : 4699751756 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks : 1 Wrong Marks : 0
Choose the word spelt correctly

Options :

Garanter
4699756973, %

4699756074, % Jarantor

Guaranter
4699756975, %

GGuarantor
4699756976. ¢

Question Number : 95 Question Id : 4699751757 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Add a question tag to the following statement:
We can go to the amusement park with you. ?
Options :

Can’t we
4699756977, ¢

Don’t we
4699756978, %

Can we
4699756979. %

Aren’t we
4699756980. %

Question Number : 96 Question Id : 4699751758 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks : 1 Wrong Marks : 0
Fill in the blanks with the most suitable pair of words.
the people at the party, we shall be.

Options :

The less. the better
4699756981, ¥

The mere. the better
4699756982, ¥

4699756983, ¥ The more. the merrier

The faster, the better
4699756984, ¥

Question Number : 97 Question Id : 4699751759 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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A mother has to the pangs of giving to her child.
Options :

bear. birth
4699756985, ¢

L690756086. % bare. berth

bare. birth
4699756987, ¥



bear. berth
4699756988, %

Question Number : 98 Question Id : 4699751760 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Find out the correct meaning of idiomatic expression :
To shake the Pagoda Tree.

Options :

To do a deep roughly
4699756989, %

To gain a fortune in an easy way
4699756990. ¥

To own responsibility
4699756991 % .

To refuse to act accordingly
4699756992 %

Question Number : 99 Question Id : 4699751761 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Choose the correct substitute for the following sentence
Repetition of the first sound or letter of a succession of words.

Options :

4699756993, # Pun

Alliteration
4699756994, ¢

4699756995, % Transferred epithet

4699756996, # OXymoron

Question Number : 100 Question Id : 4699751762 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Choose the comrect sentence
Options :

How long have you been joined this company?
4699756997, %



Where have you jomed this company?
4699756998. ¢

How long are you jomed this company?
4699756999, %

When you do join this company?
4699757000, *
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Question Number : 101 Question Id : 4699751763 Question Type : MCQ Option Shuffling : Yes Display Question Number :
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Correct Marks : 1 Wrong Marks : 0

Who among the following comed the term robotics technology?
5°5P8E) Bomed oF S (D8 BoSTDH JH5B?

Options :
William Campbell

Do sronTS
4699757001, %

Isaac Asimov
I~ T
4699757002, & P2 = SBS
Michael Linardo
 opS D8
4699757003, ® &= (=
George Divot

=0 AsteS
4699757004, % -
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International Youth Day 1s Celebrated on
©odrdah ades 8FH)do atpHI &% ?
Options :
12® January

4699757005, % ZON0 128

12® March

S8y 12 &
4699757006. #

12 May
ssoosroor, 1 2 128
12" August

el 12 %
4699757008, ¥ =

Question Number : 103 Question Id : 4699751765 Question Type : MCQ Option Shuffling : Yes Display Question Number :
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SAMRIDH Scheme is an initiation of the Government of India through
TES (Dghdo ‘5%5 DY G ool@8: Ty weoe (@Eodolod
Options :
Mimstry of Education
Doer sho|Bese F°
4699757000, % PR
Mimstry of Electronics and Information Technology
QoERE) HBI» BNTRS B Hol88: T
4699757010. ¢ &9 J% = e
Ministry of Social Justice and Empowerment
FSAeRX oo Hddin FHBE o8& T
4699757011, %
Ministry of Skill Development and Entrepreneurship

SDepdNd Sobain SPHFDE Hol8E; T
4699757012, % o %G O B&y
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Correct Marks : 1 Wrong Marks : 0
“From dependence to Self Reliance: Mapping India’s Rise as a Global

Superpower” 1s the book written by
“From dependence to Self Reliance: Mapping India’s Rise as a Global
Superpower % SSons.
Options :
C. Rangarajan

2. Sorioran
4699757013, %

Bimal Jalan

DS mers
4699757014, ¢ =

Raghuram Rajan

S3noro oram
4699757015, % 0

Uryit Patel

&aB8 HES
4699757016, ¥ &

Question Number : 105 Question Id : 4699751767 Question Type : MCQ Option Shuffling : Yes Display Question Number :
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India 1s not a member of the following.
Bod T&&° 58 3508 Do Be.
Options :
Association of Southeast Asian Nations (ASEAN)

OPBHIDAT o FESED WDArS 5&5‘3 (ASEAN)
4699757017, ¢ =

4699757018. %

Bay of Bengal Imitiative for Multi Sectoral Technical and Economic

Cooperation (BIMSTEC)
D ©f Borrd 2VWGES HE Hf JLES BLES wol METE 855845 (BIMSTEC)

Brazil, Russia, India, China and South Africa (BRICS)

4699757019, % (@B, Sary, mobdir, Bor H8dn S e@s (BRICS)



G4

24
4699757020. %
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Operation Goodwill is related to which of the following?
OIBRS HEDS Bod TES° B8 HonodolBe?

Options :

Humanitarian Tasks in Assam

oFo& Srdde S8 EsSren

4699757021, %

Humanitarian Tasks in Manipur

0975700 SBIEE Srdde s Esren

Humanitarian Tasks in Jammu and Kashmir
rorrsrys o 0T B B SrRSer sEEires

Humanitarian Tasks m Nagaland

Trerole® Srddee TEEsren
4699757024, # =
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What is the technology behind ChatGPT?
ChatGPT %% &X) Fota%s Dnd?

Options :

Virtual reality

4699757025, % £k

Augmented reality

4699757026, % S

Blockchain technology

Edone OomeR
4699757027. ¥ ™



Artificial mtelligence

B85 Hhed
4699757028, ¥ PJL Z 3
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What 1s the name of the westernmost point of India?
FEERTRE HB)SrS e D58 (Frodo A6?
Options :
Narayan Sarovar

ToahS H&8°55
4699757029, #

Dwarka

el

4699757030. ¥
Guhar Mot1

M58 Toods
4699757031. ¥

Kandla

toydeTn]
4699757032. %
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Who won the Nobel prize for literature i 20227
2022 5058008 r Firgod® TFBS 25080 IS NeniHHTnsH?

Options :
Annie Ermmaux
ooy QoS
4699757033 ¢ 2L O3
Alain Aspect

o8BS o8
4699757034, % =
Anton Zeilinger

-5
4699757035, % €OT® BOoE



John F. Clauser

R D5. S°00
4699757036, ¥ sl
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Recently, which of the following countries has planned smart city “NEOM™?
2850 seos®, Bod =8E° O B¥o G vd “NEOM” 8 &5 S%0a?

Options :

UAE

5

4699757037, % C0AB

QATAR

=5

4699757038, * P

Saudi Arabia

2 wodair
4699757039, ¢

Oman

S e

4699757040. #
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Correct Marks : 1 Wrong Marks : 0
In which district of Telangana 1s Rachakonda Fort located?
o550 250 Beorrnd®d O 2erd® aod?
Options :
Rangareddy
oo
4699757041, % 2
Yadadr1 Bhuvanagiri
4609757042, v SR $OJBAB
Medchal Malkajgiri

S DoomERs
4699757043, % Lo L



Hyderabad

Foulnjertienlo)
4699757044 % &
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Till 2023, for how many years Padma Awards were NOT given since 19547
1954 foof 2023 $8% IY) SodForen HE) vTrhed 9 PH?

Options :

4699757045, #

4699757046, # 6

4699757047, ¥ 7

4699757048. % 8
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Which Indian state has the most number of products with GI tags in

Financial Year 2022-23?
T8 B0, FHYE Irdles® efl SodEo 2022-23 & ©FHE Jogs®

adHed E0A ax) méo Q6?

Options :
Kerala
=

4699757049, ¥ SO%
Tamulnadu
SEDoEFTD

4699757050. #

Uttar Pradesh

a3d8 ($3S
4699757051 %

Telangana

4699757052, % SOOrFe
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Recently, which state started “Ladli Behna Scheme™?
a2éde, D 5o ‘@é Bsroe ( Ladli Behna) $65Qy (@*808ofod?

Options :
Rajasthan
Loty )
4699757053, % o
Gujarat
ouors
4699757054, #
Punjab
Hozed

4699757055, %

Madhya Pradesh

BN BS
4699757056, ¢ 5
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Identify the wrong statement with reference to Telangana’s Space
Technology Framework Policy-20227
Boorrn ©o8dE Fotd srovtite derdo 2022 gy Bod TOE° $B==Q
TR H8ossol
Options :
Fmancial Assistance to Space Tech
©oSBY JoTHEEE ©dE JHtabo
4699757057. ¢ e
Enabling Access to Infrastructure

SFeE Sehardiren SroiteRE dev Zdosko
4699757058, ¥

Skill Development and Training

e G SHBosn 8%,
4699757059, % &2 Eﬂé"j" =



Promoting Research and Innovation

sorsmoy x OB ES HHBAD eDiBHe @E)Iroto
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Where 1s Pandit Sundar Lal Sharma Central Institute of Vocational
Education (A constituent unit of NCERT) located?
Hobel Hois erd ¥8) Dolwd 2l ©f TTIEE AEATHS

( NCERT&G%) c500°0¢5) d%)5 ésob?

Options :
Ajmer
w5
4699757061, %
Bhopal
S
4699757062, ¥ ﬁs
Bhubaneswar
HEIEE
4699757063, % =
Shillong
Qerof

4699757064, #
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which state government has announced 60 days of maternity leave for girl
students above the age of 18 years for the first time mn the country?
BT SOFBr 18 D) DS Dl 60 e [Hird DoHo (HEHDS

o8 [©3080 H67?

Options :
Mizoram
8o
4699757065, %
Tripura
(B35

4699757066, #



Goa
Ao

4699757067, #

Kerala

z8%
4699757068, ¥

Question Number : 118 Question Id : 4699751780 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Pranjal Srivastava, who created the record of becoming the first Indian to win
three Gold Medals in the Mathematics Olympiad held in Oslo. Norway. hailed
from which city?

=0 S0 L% &° wBAS KBS wDohoirE &° Sarih Do SFen FHoAS &

TS5BS Er 88 QYRoDS (Froxd B D $Ko-08 Toddarth?

G
Options :

Hyderabad

Fralnioatod]
4699757069. %

Bangalore

BorvErs
4699757070. ¢

Mumbai

SpozFoD
4699757071, %

New Delhi

S &9
4699757072. %

Question Number : 119 Question Id : 4699751781 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which state government has launched the Vision for All School Eye Health
progranune in partnership with One Sight Essilor Luxottica Foundation and
Prasad Netralaya?
3528 Mol o s FroriS B (HFE JTech wﬁé‘:ﬁ)&oé& ‘ez
N0 v "co::ﬂ%ef 0 S ’5‘55@53“@&5} U‘Q’ (Bgh&0 (@8ododod?
Options :

Andhra Pradesh

v,_l.‘
4699757073, # @o@ﬁ@d{g



Telangana

4699757074, % Seorre

Goa

R
4699757075. ¢

Madhya Pradesh

g5, (BBE
4699757076, % =

Question Number : 120 Question Id : 4699751782 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which IIT has developed a fully indigenous microprocessor?
%8 84 $BpHo8® HVTD DE DI B ETrPFododS vod H&?

Options :

[IT-Hyderabad

n0&- TrSTeard
4699757077. %

[IT-Madras

ond - oo
4699757078, ¥

[IT-Mumbai

o0& -Snozron
4699757079. %

I T-Kanpur

o0 - 80
4699757080. % o)

Question Number : 121 Question Id : 4699751783 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Who have been awarded Padma Bhushan in the category of literature and

education for the year 20237
2023 [oH& o8 ﬁ)‘%ﬁéao bk DS Deriiod® éeﬁéﬁvzﬁﬁ O PobT% 2S5%?

Options :
Sudha Murthy, Kapil Kapoor

et é:j‘ fre bt
4699757081, ¥ "0 8, 8¢ 58



Kapil Kapoor, Deepak Dhar

X9 o o —
4699757082, % £S5 5576, B35 o8

Deepak Dhar. S.L. Bairappa

BIE b, ID.JS. BEH
4699757083, % =%

S.L. Bhairappa, Kapil Kapoor

0075705 D6, BED), EOS L5

Question Number : 122 Question Id : 4699751784 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What 1s India’s rank in Sustainable Development Goals Index-20227?
HRo-HHB oge “edE 2022 (HsBo TESETE o dB?

Options :

4699757085, % 119

120
4699757086. %

121
4699757087. ¢

.
4699757088, % 122

Question Number : 123 Question Id : 4699751785 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

As per NIRF-2022 Rankings, Correct sequence of first 3 Institutes in the
University category

NIRF-2022 ogo8ofie ($580, chrREg)d S0AEE™ 3088 3 Fore 338 Ko

Options :

[ISc-Bengaluru, INU-New Delhi, JMI- New Delhi

[ISc-Borgrs, INU-g5céd , IMI-g8o=&d
4699757089, ¢ B Bl

[ISc-Bengaluru. JMI- New Delhi, INU-New Dellu

[1Sc- Borgrs, JMI -&rcdd |, INU-gob
4699757090. % o e



IIT-Madras, IISc-Bengaluru, INU-New Delhi

IIT-solc~, [ISc-Borigrds, TNU-8r88
4699757091. #

IIT-Madras, JINU-New Delhi, IISc-Bengaluru

[IT-%oe=o, INU-808 | IISc-Boiigrss,
4699757092. # e

Question Number : 124 Question Id : 4699751786 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
According to the National Education Policy 2020, what percentage of Gross
Domestic Product (GDP) should be spent on education?
cBahH Doy Do 2020 Hs=do, dre 34388 ( GDP) & 208 =80
DB PBY) DATO?
Options :
2%

4699757093, #

4%,
4699757094, %

%
4699757095. ¢

4699757096. ¥

Question Number : 125 Question Id : 4699751787 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which one of the following countries 1s willing to teach Punjabi in Government
schools?
Bod & O Bdo &8 (b %é@&:eﬁ: Sof0 FeoSE08 ?0&@50:'? Bod?

Options :
Afghanistan
SR
4699757097. ®
Bangladesh
DOERS

4699757098. #

United Kingdom

SwPBE BoRES
4699757099. %



Australia
@@aoﬁn
4699757100. ¢

Question Number : 126 Question Id : 4699751788 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What does SATH-E stands for?
SATH-E &8 &0

Options :

Skill and Aptitude Tramning for Higher Education

28 ©@of oltoel [E0oh H& rahd HEXTAS
4699757101. % @ S o o

Students Academic Traming and Holistic Education

~Go)) osEhE B0 ©of FPOLE D&rSds
4699757102, % & ® o

Sustainable Action for Transforming Human Capital-Education

w5t oS o o, o ¥ S
4699757103, @@ﬁmﬁ Cﬁjﬁﬁ,‘_‘a qJE @3‘5‘:,@‘-5805 0N Thed o-:lfﬁ}a-.ml‘S

State-level Assessment and Traming for Higher Education
RT-BSS ©3VDoeS ©of (BN 6 TraDd ITRS
4699757104, %

Question Number : 127 Question Id : 4699751789 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which act recognizes the right of children to free and compulsory education?
$0S HBak AFos DE; N0 hge T O $o Benpod?

Options :

The Juvenile Justice (Care and Protection of Children) Act, 2015

2320 20 (b SodFe Hdaw &) o, 2015
4699757105, # o =

The Right to Education Act, 2009

D= 7% Heo, 2009
4699757106. ¥ g ¢ e

The Child Labour (Prohibition and Regulation) Act, 1986

e 5B (Vo 2pBa DabolEes) Sko, 1986
4699757107. %

The Protection of Children from Sexual Offences (POCSO) Act. 2012

BoA¥ Jore 008 dee s (POCSO) Hio, 2012
4699757108, ¥ = ~ . &



Question Number : 128 Question Id : 4699751790 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What 1s the Rank of India in Global Innovation Index 20227
Fod aSH3aS 2088 2022 &° 58880 oot Jod?

Options :
40™
03
4699757109, ¥
o
47
4699757110. 425
44
44 %
4699757111, ®
46111
. 4635

4699757112.

Question Number : 129 Question Id : 4699751791 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Stanford Binet scale measures this attribute of an mdividual.
LS P8 HIS 6 o8 i Gk S oferl) Seniiyod.
Options :
Creativity

o v,
oot Y]
4699757113, ¥ Y ©

Aptitude

 Raredo
4699757114, %

Personality

- 8o
4699757115, % == &

Intelligence
(de2
4699757116. ¢ ~ F

Question Number : 130 Question Id : 4699751792 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

What 1s the name of the Present Union Minister of Education?
B8BTS’ (HRE DoTy Hol@ Do Dd?

Options :

Ramesh Pokhrival Nishank

SR FBceS Dol
4699757117, %

Smrit1 Iram
N =loatd
4699757118,

Dharmendra Pradhan

$B0E B8
4699757119, ¢

Prakash Javadekar

PR w5358
4699757120, %

Computer Awareness
Section Id : 46997560
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 46997572
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 131 Question Id : 4699751793 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which one of the following is not a search engine?
& (Bod TAS° D) moal =08 H&?

Options :

Bing

Fal
_ Hoh
4699757121, % =



Firefox

2655
4699757122,

Google

Heihe
4699757123, %

Yahoo
Qi
4699757124, ®

Question Number : 132 Question Id : 4699751794 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following 1s not the network edge device?
Bod =&&° IETSE), woth HBEBo =06 2&?

Options :

Mobile

S0
4699757125, % o

Router

g°eb
4699757126. ¢

Pc
DB 503’3@&}5
4699757127, %

Laptop

Rt D
4699757128. % ¢

Question Number : 133 Question Id : 4699751795 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A network device that provides connectivity to another network 1s called
2.8 B5SE) 8% ILIGE eHSoreso T SBET-R) DHotrdH

Options :
Gateway
Aér
4699757129 ¢ i
Server
otelds]

4699757130. # .



Active Switch

@25 o
4699757131. % & ¥

DNS Server

EARJR [86
4699757132, w

Question Number : 134 Question Id : 4699751796 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Unauthorized access should be prevented mto the system that you are using.
Identify the correct answer among the list given below.
L% adTeARE) Kosgrwd &2 o86=8 (HFTQ) 800D, (Bod &S
8% JrgraeQ) okl

Options :

Router
4699757133, % O &8

Gateway

4699757134, ¥ ™

Firewall

latals]
4699757135. ¢ =

Virus checker
J8% LS
4699757136, %

Question Number : 135 Question Id : 4699751797 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Many protocols are m use. Identify, which one of the following 1s the most

common Internet Protocol.
IS (BreF=d) a5@riio & 85D, ©ows (Bod TOS° ©8 Frde wodTe

(PP 980508,
Options :

NetBEUI
4699757137, #

4699757138, #



TCP/IP
4699757139. %

IPX/SPX
4699757140. ¢

Question Number : 136 Question Id : 4699751798 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
There are two versions of IP. Indicate, which versions of IP are actively used?
oSTe @%¢P=8)° Both SoDBen (Versions) esmmom. @ wodTre Hodleud S8
BHEPATE?

Options :

IPv4 and IPv6

[Pv4 508csn IPv6
4699757141, ¢

IPv2 and IPv4

IPv2 So8asn [Pv4
4699757142, %

IPv1 and TPv2

IPv] &o8ciwm IPv2
4699757143, ®

IPv2 and IPv6

[Pv2 &o8aim IPv6
4699757144, #

Question Number : 137 Question Id : 4699751799 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which one of the following groups contain graphical file extensions?
808 =&S° (T3S S I5)BoRS SOAS SHorirsEn 267
Options :
JPG, CPX, GCM
4699757145, %

GIF, TCE, WMF
4699757146, %

TCP, JPG, BMP
4699757147,

1609757145 ¢ T O- BMP. PNG



Question Number : 138 Question Id : 4699751800 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Kilo Byte means 1024 bytes. Similarly, one Gigabyte means
86°3¢ w0l 1024 Biy © ofo. 8 dForr 2.8 Arrdel ©oll Jos?

Options :
1024 Kilo Bytes

1024 86 e
4699757149. %

512 Megabytes

512 ForrBexy
4699757150, #

1024 Megabytes

1024 SorrZ@en
4699757151, ¢ o i

1024 Tera Bytes

1024 8l Bew
4699757152, %

Question Number : 139 Question Id : 4699751801 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
When we browse through the Internet, the information 1s retrieved with the help
of HTML documents. Identify the file extension of HTML documents.
wodreo & Siroroeg) HHDdpe HTML Sgre 3&fcbos® Sirato
rotsSthebod. HTML Sigre &r&Aodi (extension) rbdosod.

Options :

html (or) .htm
4699757153, ¢

Jhxm
4699757154, %

Jm (or) . hmm
4699757155, %

Jhml

4699757156. %

Question Number : 140 Question Id : 4699751802 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



There are many handheld devices that we use m daily life. Some of the devices
that are most widely used are not portable. In the given list identify the device
which 1s not a handheld device:

2 £0806° Hfo AT Folrd JbiorodH SIETENFIL. R PPd
So%vre DBOT adTrAFI. (Bod 86 Fobird H8%80 R HfoBod:

Options :
DVD
4699757157, % S0
Mobile phone
2BS PR

4699757158. #

Pen drive

BN
4699757159, % €

All in One (Xerox, Printer, Copier, Scanner)

:.,5&_ =0t o) (Ro°E), Bowb, ==babd, IKs
4699757160. ¥ v

Question Number : 141 Question Id : 4699751803 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Cache memory 1s used to increase the speed of operation of a computer? Here 1s
an answer that points out where the cache memory works between.
ﬁo?’.;jvaéaS cinﬁg_ E‘:‘s'rwﬁ}& 20HE% méq"_l 08D BOTeAT. s=5'c'._1 Db D&

5085 ts0t00B Bod TESR O wmrm Hrdiob.

Options :
ROM and RAM
ROM s08c3» RAM
4699757161, ¥
RAM and Hard Disk

RAM 58c3» Hard Disk
4699757162, ¥

CPU and RAM

CPU &o8ain RAM
4699757163. ¢

Hard Disk and Graphics Controller

4699757164, ® Hard Disk :8a%0 Graphics Controller



Question Number : 142 Question Id : 4699751804 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

We use web pages to browse the information from various web sites. One of the
site name 1s www.noname.xyz This site 1s a secure site. Here 1s the actual link
to the site. Identify the correct link.

DOHS aﬁ@gé’ém QSiroroed) SrolicedE 35 LTSI B0@rATFI0. oerof) ¥ D

D& WWw.noname Xyz =8 o8 B8 2 ol o o388 Dot @od.
S8% DoE B rhBotol

Options :

http://www.noname.xyz
4699757165. #

http/noname.xyz
4699757166. #

nonamnic.xyz
4699757167. %

https://www.noname .xyz
4699757168. ¥

Question Number : 143 Question Id : 4699751805 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which markup language 1s used to create web pages?
3T Do HRoDODH & D TEH SHTEARR?

Options :

Hyper Text Markup Language
Fagsle] 5&5'3 &“5&5 R

4699757169, ¥

Light Weight Markup Language
BeT &5 SEED =R

4699757170. % = o

LaTex

?J=é35n]
4699757171, %

Curl

1]
4699757172, % =

Question Number : 144 Question Id : 4699751806 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Network means, collection of various Computational Systems. How do you
define collection of various networks i the world?
558 w0l DO e SIS DESe.  [HHoSos® D DS ITSGe LB Jee
DB OFB?
Options :
Intranet

Lo&%E oo
4699757173, % A

Internet

®oST OO0
4699757174, ¢ &

Local Subnet

o -
4699757175, & @wé&cﬁ; el

Local Area Network

[Frofich ITHG)
4699757176, % =

Question Number : 145 Question Id : 4699751807 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Many devices are used while building a Network. Here 1s a list of devices that
are used m any Computer Network. Identify the one which 1s not considered as a
Networking Device.
RTS8 K)cgmoé‘g oI HBETOH BITEATE. )R Lot IHG) &°
S3@rNoT HBkore DS Bod. ITHE) HBEBo =R HBoPos.

Options :
Switch
4699757177, ® e
Router
35

4699757178, &

Suse Linux

SoeR BRE
4699757179. ¢

USB WiFi adapter
Rl I ewaid
4699757180, %



Question Number : 146 Question Id : 4699751808 Question Type : MCQ Option Shuffling : Yes Display Question Number :
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Correct Marks : 1 Wrong Marks : 0

We display Images and Videos on a monitor. There 1s smallest element to define
visual element. Identify the correct one.
Dgrokh 8 HEGreR 88  (BEGFED. §)Y Swresl) VG NoSERE ol

08 Sorefo Gotnod. $IBE o0 rh8otob.

Options :
Word

1a)
4699757181. % &

Bit
A

4699757182, #

Byte
23eT

[

4699757183, #

Pixel

Q.= 6
WS
4699757184, ¢ y

Question Number : 147 Question Id : 4699751809 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The Main Block of Computer is named as CPU. Below 1s a list of devices that
are part of CPU, except one device. Identify that device.
Losmrd @) (Herd grifo 2 oS [Fdoh bRl (Zod s’ ¥
S5y DADKY oS (W0l RS HBkoen. © 2.8) $8¥oeR) iHBoSok.

Options :

Hard Disk
56 &%
4699757185, % & L}

Processor
=038
4699757186. %

SDRAM

2oE°8T BEMHE oot S b
4699757187 #

Monitor

4609757188, v REE
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Correct Marks : 1 Wrong Marks : 0

Consider the following path “‘root\master\subdir'texfile.tex”. To access the file
“texfile.tex”, how many directories the OS should look nto?
& (Bod Sro®)y $8890508 “‘root\master'\subdir'texfile.tex”. “texfile.tex”

o S S8 (HIFo oS08 , eliBdoR BPD ) FBLbes IrESed wotnod?

Options :

One

258
4699757189, %

Two

BotH
4699757190, %

Three

S0T°E5d
4699757191, ¢

Four

el

4699757192, #

Question Number : 149 Question Id : 4699751811 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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The Computer that was purchased for the lab consists of Intel Processor with
256 bit word length. The processor generates address that will be used to
process data in the RAM. Which of the following address 1s generated by
Processor?
Bartze 5550 Fites T8 Zogmwd 256 H¢ $8 KD 2088 (@06
£OA @oB. T0ED TR Hd & B5omeR) BBTPACHLD [FRNE DT HT
88 Tod. (Bod T8S® H VDT EF (FRNE a8)B Tod.

Options :

Local address

4699757193, # @médﬁo = RPRraD

Physical address

F8E DT
4699757194, ¥



Actual address

TN DT
4699757195, %

Simple address

QBEDD HBoT
4699757196, % &= 7

Question Number : 150 Question Id : 4699751812 Question Type : MCQ Option Shuffling : Yes Display Question Number :
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There are slow memory devices and some of them are fast memory devices. In
the given list, which of the following memory device 1s very fast when compared
to the others mentioned below?
Q) VprdhE hehd HO¥oren 0Bk 5°Q) E‘jrﬁéoé@ﬁ 008 HdXoren Xow.
208 &S ood Som) ©8 JITSoSd DHd HBEE0 HB?
Options :
SSD
TG BT @5
4699757197 ¢

DVD

4699757198. % baed ééﬁé &,a;,

Virtual Drive
SBNSS @5
4699757199, % W

Flash Drive
ara (B

4699757200, #



